

pg. 120 #13-19

$$13. \frac{dy}{dx} = \frac{2(3x-2) - (2x+5)(3)}{(3x-2)^2} = \frac{6x-4-6x-15}{(3x-2)^2} = \frac{-19}{(3x-2)^2}$$

$$14. \frac{dy}{dx} = \frac{(2x+5)(x^2) - (x^2+5x-1)(2x)}{x^4} = \frac{2x^3+5x^2-2x^3-10x^2+2x}{x^4}$$
$$= \frac{-5x^2+2x}{x^4} = \frac{-5}{x^2} + \frac{2}{x^3} \text{ or } \frac{-5x+2}{x^3}$$

$$15. \frac{dy}{dx} = \frac{[(1)(x^2+x+1) + (x-1)(2x+1)]x^3 - 3x^2(x-1)(x^2+x+1)}{x^6} \dots$$

$$16. \frac{dy}{dx} = (-1)(1+x^2)^{-1} + (1-x)(-1)(1+x^2)^{-2}(2x)$$
$$= \frac{-(1+x^2) + (-2x)(1-x)}{(1+x^2)^2} \dots$$

$$17. \frac{dy}{dx} = \frac{2x(1-x^3) - x^2(-3x^2)}{(1-x^3)^2} = \frac{2x(1-x^3) + 3x^4}{(1-x^3)^2}$$

$$18. \frac{dy}{dx} = \frac{(\frac{1}{2}x^{-1/2})(\sqrt{x}+1) - (\sqrt{x}-1)(\frac{1}{2}x^{-1/2})}{(\sqrt{x}+1)^2} \dots$$

$$19. \frac{dy}{dx} = \frac{[(x+1)(1) + (1)(x+2)][(x-1)(x-2)] - [(x+1)(x+2)][(1)(x-2) + (x-1)(1)]}{[(x-1)(x-2)]^2}$$
$$= \frac{(2x+3)(x-1)(x-2) - (x+1)(x+2)(2x-3)}{(x-1)^2(x-2)^2} \dots$$